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rttest: dump_pqg /?

Usage: dump_pg [/pg PQID] [/step StepID] [/agentpg AgentID] [/agentstep AgentID] [/help] [/?]

rttest: dump_pqg /pg 5000

PQ 5000 (PQ1l) - Agents 5002 (Agentl)

rttest: dump_pqg /step 5899

PQStep 5899 (PQ1.2)<PQExpr>Sales>=5</PQExpr> - Agents 5002 (Agentl)




rttest: dump_pqg /agentpg 5002

Agent 5002 (Agentl) - PQs 5000 (PQ1),5001(PQ2)

rttest: dump_pqg /agentstep 5002

Agent 5002 (Agentl) - PQSteps 5899 (PQ1.2),5900(PQ1.3),5901(PQl.4),5500(PQ2.3)

2.dump_queue NV RZFEATDIE, FEOF1—A IR Y RTF1—-ICAhshni]
— ) ZHRTEERT,

rttest:dump_gueue /pgstep 5899

1 calls queued to PQ1.2 (5899) CallKey PRI TIME 211 5 06/04 10:27:53 (4 sec)

3. Dump_queue_summaryFREDOF 1 —OFKEFHEHRERLE T,

rttest: dgs

Domain Max InQueue InTransit Total
Cisco_Voice 1000 1 0 1
Call Type InQueue InTransit Total
CT_IPCC_777000 1 0 1
Call Type, Domain InQueue InTransit Total
CT_IPCC_777000,Cisco_Voice 1 0 1
Max InQueue InTransit Total

Total 10000 1 0 1
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